Rutherford atomic model in Hindi

YEIhIE Rl URHTY] HISe

TEIHIE A T 1911 So H URATY] <hl T AT STHI i oh ol Yo Tl fovarm| 39H waxmls = feaigfaea
d aiferfas i afast St @ Rere areft a-fohrort St ger fohvor 41 &t Uek aIgd uaet 917 (&0f) & 03 ]
fiRma, dur fiR 3 fos ol o A @ ToRd gy a8 a-whor fafea feemsit # feifta gt smd &)

a-fohRoTl &1 39 YR S1u= AT 9 faafera gi= i geAT ot uhiviH ogd &1 39 UhR TIHIS & 59 TN 6l
IS ol UATY] Aige (Rutherford atomic model in hindi) @gd g

IEIhIE & URHTY] AIS & a2
TEIBIS = 3707 Hisd i [IR gder THgTH & [y o Agayquf 9 Ry St = geR 4 ¢ -

1. 39 TANT § RIS 3T foh SATGTaR -ahuT Wi o7 § faeifia gu fomm W ot Sird 81 a9 fsed feen
ok URHTU] T SATGTAR | 3ieR § @il gidT &

2. P 0-ThUT YA AR 8 Y hivT SA1d §T A& gt SiTd &1 <feh g6 ua & foh a-ehoT eTeliRid gl g1
g9fery I8 fohdlt emmafia axg g1 & faeifia gt Tonar &1 399 WIS = 71 foh uRATY] vt St e
ST WRATY] & HidR Tep B @ 91T H dhfed g 8l

3. TS Q-UT 370 ART F TR 0T TR UhIfO gepy a1y wie 3Td & | 3T IEIHIS = Ig dMT foh e
STTAIST TRATY] & 37ex Yoh ST Y& VI ohfad 8T & 5 R i ATk hed &
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o gr1 W g foh a-&or Tfes & fSa= IHig 8T & 39 UR I 8 31fdeh ufderyur a7 «TaT g1 fSiadh &ror
ag 31k whivr IR [A&fa gidr 81 39k fAwia a-aor A1foes @ it gt iR glar & 39 WR 3Ia-1 81 &vA
OfAhYUT S oRTdT g | fS1eh ShRUT a8 <37 hivr IR fq&ifud ghar 81

UM ZRT I8 UraT 7T ok A1f¥es bt Brar 1071° i anife &t gt &1 a2t u=ary dt frsar 10710 &t apife fi
il 81 39 STUR WR gH g Fehd ¢ foh A1fHeh ht B AT i Bror & &8 g9TRd 9HT & SRTeR gid! 81
1R & ST AW YN H chalel SAagi- a1 gid & | S 3(U=T (U hermsif J gHd I8d &

YEIHIS oh URHTU] IS ol hindi

TEIIE & URATY] Aige H &t it urg 78 it f v &
(1) RIS GRT UFJd URATY] AISH, URHTY] o WATRI hl AR g1 e Hehl |
(2) &I gRT U¥gd URATY] Higdl, I WeReH hl ARAT gl o Jenl |






